Subject: Re: A Challenge?
Posted by Conor on Tue, 10 Jul 2007 17:49:20 GMT

View Forum Message <> Reply to Message

On Jul 10, 1:43 pm, Conor <cmanc...@gmail.com> wrote:

> On Jul 10, 1:35 pm, "Richard G. French" <rfre...@wellesley.edu> wrote:
>

>

>

>> On 7/10/07 12:26 PM, in article

>> 1184084767.325010.57...@w3g2000hsg.googlegroups.com, "Conor"
>

>> <cmanc...@gmail.com> wrote:

>>> original source here:http://astro.ufl.edu/~cmancone/hello.pro

>

>> When | try to execute this, | get the following error message:

>

>> |DL> .run hello.pro

>> |IDL> hello

>

>> nirpts,tgnirtyb(rt(e))74

>> A

>> 0% Syntax error.

>

>> So, | can't figure out how it works since it doesn't seem to work (IDL6.3,
>> PowerBook G4)

>

>> Suggestions? Seems like a byte swap problem to me.

>

>> Dick French

>

> Yup, bite swap error. Sorry everyone on mac :( | wrote it on linux.

For those on mac (and similar machines):

www.astro.ufl.edu/~cmancone/hello_mac.pro
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